[d” sum p_/dnd¢{GeV]

Ratio to ATLAS

7000 GeV pp Underlylng Event
[— Tt T T TTTT | T T T T T |_
- Sum(pT) Density (AWAY) (h| < 2.5, p >0.1 GeV) B
7 I —
- m  ATLAS ]
~  --O-- Herwig++ 2.4.2 default :
6 — --&-- Herwig 7.2.0 default —
5 =
41— =
B USRI
L e o ]
31— e T
L .,,ﬁ'“‘iﬂ' _
- "R .
2 ]
1= =
a) B | | | | | | | | |_
- L
2 & -
: me@eee@e@@@ < S .
I O ------ -

1 i N = Il T e e D e e =N
B W = o S — g
0.5 _
.................. I R T T A S T SR S
0 ) 10 15 20

P, (leading track) [GeV]

Rivet 3.1.0, = 5.4M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


